



# IKSHA CHARITABLE TRUST

## भारत की उड़ान

[WWW.IKSHAININDIA.IN](http://WWW.IKSHAININDIA.IN)

REGISTERED WITH



**NITI Aayog**  
Government of India

# Learning Light | रौशनी

## shiksha abhiyan



IKSHA CHARITABLE TRUST

## From the Founder

The need for learning is indispensable to every child. It is our privilege to be launching this project to provide quality literacy programs with consistent efforts including technology based **attendance tracking** and **personalized progress evaluation** to ensure quality educational fulfillment.

We thank all our partners for your consistent support in making this dream a reality!



**Alan Philip Sam**  
Founder

## 35+ children

Free Education and Literacy Program for 35+ students for a whole year

## Aim for the Year

Our non-profit aims to empower multiple study centers of 35+ underprivileged students through a year-long continuous education and aid program. We'll provide academic support, mentorship, and essential resources, fostering a nurturing environment for their holistic development.

The project focuses on improving educational outcomes and ensuring sustained well-being for every student, enabling them to reach their full potential.

## Project Goals for the Year!

**₹975**  
**a month/child**

This is the cost for providing this program per child for a month

**diverse age groups**

Through Literacy we aim to reach multiple age groups.



# Total Funds Required

# ₹4,08,000 / 1 year

For an annual program of 35 students  
Across two different slum communities in Muzzafarnagar

## What is project Learning Light | रौशनी ? shiksha abhiyan

Millions of children in India, particularly those living in impoverished urban and semi-urban areas, lack access to fundamental literacy education. This deprivation not only limits their individual growth but also hinders the overall development of their communities. In Muzaffarnagar, children in **identified slum communities** are currently at risk of being left behind. They lack **essential learning materials, dedicated educators, and a conducive environment** to foster their educational journey.

Iksha aims to start one literacy center each as an **annual continuous learning program** in Muzzafarnagar and Noida catering to **over 35+ students** with an aim to bring the light of learning and break the cycle of poverty and illiteracy.

### Detailed costs per literacy center

S.No.	Item	Cost/Unit	Number of units	Total Cost
1	Study Material (3 in 1 Basics)	₹30.00	50	₹1,500.00
2	Pencil	₹5.00	50	₹250.00
3	Sharpner	₹5.00	50	₹250.00
4	Eraser	₹5.00	50	₹250.00
5	Folder (Clear Bag)	₹30.00	50	₹1,500.00
6	Crayons/Sketch	₹30.00	50	₹1,500.00
7	Chocolate	₹10.00	50	₹500.00
8	Drawing Note Book	₹20.00	50	₹1,000.00
9	Teacher's Salary	₹17,000.00	1	₹17,000.00
10	Rent Expenses, Utilities	₹8,000	1	₹8,000.00
11	Administrative Expenses & Maintenance	₹2,250.00	1	₹2,250.00

**TOTAL COST PER MONTH FOR  
35 STUDENTS / 1 LITERACY CENTRE**

**₹34,000**

# meet the teacher

## Roselin

Roselin is an M.A., and a B.Ed. under training who is sharing her time with a zeal to educate the underprivileged kids, given that she has had many challenges in her own life.

When she was 4 years old, while crossing train tracks to go back to her home, a train ran over her foot, and she completely lost her left foot. Despite living with a prosthetic foot, her stride to achieve and create opportunities for others like her has been tremendous, and we are glad to have her on our team!

Thank you to all our donors and volunteers.



ikshaindia.ngo@gmail.com



www.ikshaindia.in



D-374, First Floor, Tagore Garden  
Extn., New Delhi - 110027



+91 9211481144

Donate Now!



Registration No: 2025/25/IV/914 under Indian Trusts Act, 1882.

NGO Darpan ID : DL/2025/0663559